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Failure to reject significance of the
regression hypothesis (Ho: Bl =0) is
eguvalent to concluding that there is no
linear relationship between x and ¥
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i ot week 0, three were tested after [7][8
Sdlon being buried two weeks, and three were
tested after being buried 4 weeks. A partial 1
analysis of variance table is shown below.
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selected to study how this material
deteriorates when buried in a landfill
Three of the strips were tested for strength
at week 0, three were tested ofter

being buried two weeks, and three were
tested ofter being buried 4 weeks. A partial
analysis of variance table is shown below
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In testing hypotheses to compare the
means of two populations, the two
populations need to have same variances

Select one:
o True

) False
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& Nine strips of fabric wera randomly

selected to study how this material
deteriorates when buried in o landfill.
Thwee of the strips ware tested for strength
at week 0, three were tested after

being buried two weeks, and three were
tested after being buried 4 weeks. A partial
analysis of variance table is shown balow.
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We use sample statistics to estimate
population parameters
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interested in improving the tensile
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percentage: 15%, 20%, 26%, 30%, and 25% BE
Product engineers draw o comparative
box plots of the cotton parcentage. Use
the box plot to determine which means
are different.

Based on the figure below, which of the
following sentence is correct:

Q& 4. There are significant diferences
between all paks of means axcept
20% and 25%

O b. There are significant differences
betwesan all pairs of means axcept
15% and 35%

O c There are significant differences
between pairs of means 15% and
30%.

O d There are signiticant ditferances
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A company produces metal pipes of a
standard length and weight. They tested
its production quality and found that
length of the pipes produced were
normally distributed. In a sample of 41
pipes, the standard deviation is 2.3 cm
Engineers claim that the population
stondard deviation is less than 2 cm

The value of the appropriate test statistic
to test the hypothesis is equal to

O 0.30.25
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Nine strips of fabric were randomly
salected to study how this material
deteriorates when buried in a landfill.
Three of the strips were tested for strength
at week 0, three were tested after

being buried two weeks, and three were
tested after being buried 4 weeks. A partial
analysis of variance table is shown

below. If a =0.05

e Degrees of
\’lnmﬂnipm




investigate five levels of cotton
: 15%, 20%, 25%, 30%, and 25%
Product engineers draw o comparative
box plots of the cotton percentage Use
the box plot to determine which means
are different
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Based on the figure below, which of the
following sentence is correct
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